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Question 1- A certain number of men can do a work in 60 days. If there

were 15 men more 1t could be finished in 10 days less. How many men were

there in the beginning ?

T |- Ueh M2 €ean H 78y T oh|eh@ﬁw Gehd @l i< 15 T8 Al
gId ol §4 10 forf 3 H 91 TR ST Hehell T THH H fehd T8 47

o _mp, | T ~Qimysy Ao
kU\ \KUL 6]: SJ\\_‘{S B. 70
e G /g ;(5)
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\QO’}- Question 2- A person sells an article for Rs 14080 and incurs g loss of 12%.
x\L At what price should he sell to gain 11%.

\(\\- I 2- Teh <k Toh o] sl 14080 9 H si=dl & ﬁr%l
11% T TATH STH i o {e1T 3¢ fohel Aol 9L Si=iHT =180?

g 1308)¢
O87 =3 14080 . %@O;jgxﬁ(
: a) Rs 15760
l/ﬁ- |J~0&o‘ B g b) Rs 16760
R = l6ox I SFRs 17760
= Hg0 H d) Rs 14560
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Question 3- A and B can do a work in 12 days and 15 days. They start work

together one day each on alternatively. In how much time 60% of work will

be completed.
T4 3- A 3 B Teh & ohl 12 o7 31 15 &7 § 3 ahd 81 d Jehicdsh ®9 § Teh-

Ueh o Teh |1 ShTH ShLAT I8 L 81 60% ST Tohell S H T BT ST

a) 12 days

b) 14 days

c) 18 days
— 8 days
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Question 4- Pipe P and Q fill a tank 1n 15 hours and 12 hours respectively. Pipe
C can empty it in 4 hours. If the pipes are opened at 7 AM, 8 AM and 10 AM

respectively. Then in how much time tank completely empty.
T - 189 P 31T Q Tk dohl shl ShHTT: 15 HS AR 12 S H WA B ST C 38 45 H
AT L Hehell 2l Tl 5T ShAST: GIe 7 5191, 8 oS SN 10 SIS @it SiTd &) 1 foha

o H do O 038 © @Telt &l ST <

a) 2 hour 30 min

LBy 3"hour 40 min

¢) 2 hour 20 min

d) 4 hour
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Ol P ”-7 57 B fld= 2418 | HtgH5=-6
é@m § -5 13 |60 =22
ofm (5 1y . %’i 53“3—41
g - 52
(Pﬂ?)%: (*Hs))(;) = 3)3210%
=R
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Question 5- A sum of Rs 24058 is divided among A, B and C such that A

received 5 timnd C received one third of A. Find the share of B.

T 5- 24058 T9 T URTHT A, B 3T C & ST 39 TR foranisrd foram Srar 2 foh

Aﬁc ! A %1 Tsh [q8Ts ST 83711 B 1 o8 J1d hifsl

a) Rs 2138
) Rs 3138
c) Rs 4238
d) Rs 3388
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W B 2

[5)(35 X3
L%& A X9
s (15 SRy ’5}%25:’%02%5’@
= Q58
s \Q&g%
§ Rt of g forge 2
~3131 §

https://t.me/mathbytarunsirmepl



=) UP QIcTA BRI 202343

Question 6- The simple interest on a certain sum at 10% penannum_ for 4 year
1s equal to the half of compound interest on a sum of Rs 2000 at 20% per

annum for 2 years. Find the sum.
T 6- @ﬁf&ﬁtﬁf@%aﬁaﬁwm 2000 T
oh! TT 9T 2 991 ok ToTT 20% Ul I kT 3T H <Ashallg, SATST oh T8 oh SIS & AT

SIGEE IS

a) Rs 1000

—b) Rs 1100
c) Rs 1400

d) Rs 1500
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o, S.I:—;‘%XCI [CY- o?j{: )(“gﬁﬁé}
Dx l LR (0D
WA o es X 44-20,
P= Qx50
P=T llos.
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Question 7- The average weight of 14 students is 60 kg. If two students of
weight @g a@g are joined then find average weight of all students.

Er%T7-3ﬁE?r m‘u 781 AfS 40 ToRTT ST 48 TR 9Lk a1 B

i Toar T Srar 2, ot 9+ S oAt 37Ed ISt J1d shi TS|

() Toht wott ol 1y gt~ G117y W=
gt o 14 g o v R

g a) 48 kg

75“ : / /6 e 8504 Ho+HQ f 5&_& b) 68 kg
= T i

d) 78 kg
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Question 8- Find the least common multiple of smallest one digit number

divisible by 3 and the largest two digit number divisible by 7.

T 8- GoId DI Ueh IhIT &A1 ST 3 U 7= @ 31T 99 oIt a1 37eh! shl Tt 7
g fovTsT @ o1 1.9, J1d hifs

Lemof 3 9

2) 293

Lm= Jx94 b) 293
= {94 c) 297
i @794
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Question 9- A person sells an article at 20% loss. If he sells it at Rs 900 more
than he will gain 25%. Find the cost price of article.

T 9- Uk Afch Teh o Al 20% BT 9L =T 2l AS I8 38 900 TR A&k T
SFIT 8 A1 3 25% T 1 1T, S T 563 Hed JTd shiT9]

@ Zéf (= (Ooﬂ:ao‘/‘ >SP1=Q0
L,Q:%‘C(Cb a) Rs 1200

195 ai —b)Rs 2000

@‘7 g < 20X (7 c) Rs 2400
/:{%000 d) Rs 1600
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Question 10- A boat can go 30 km of distance downstream in 1 hour. If the

speed of current 1s 10 km/hr then find time taken by boat to cover a distance of

H%lO-@m@%ﬁﬁaﬁlﬁ%ﬁdu L Fehdl ol Al G
Tfer 10 fehwi/sieT 8, dT & o Sferehet 120 fopel <l &l o= ohtd o fore 1 g foran

T 993 T shits|
&\ :D a) 10 hr
IR b) 15 hr
T c) 18 hr
——-é)'lz hr
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D Btw- 20 p= 120

Btw= Zokmlh. | =N h
B+io= 30 i
8= 200m|f.
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Question 11- Find the area of square whose side 1s twice the length of
rectangle. It 1s given that area of rectangle 1s 48 centimeter square and breadth
of rectangle @

ST 11- S 3T &%t T ShITSI [ST6eh! ST AT shl oEal]s ¥ Q] ol I8 e 1
2 Tor STTId =1 et 48 THIeT ot ® 37 3a @ H

xR = g |Side ol fuau= &(ﬁ? 2) 64
Ly 6= 48-§ 6 b) 128
L~ Qo 4 o ‘:2(6) o256
T d) 212
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Question 12- One fourth of a tank holds 135 liter water. If there 1s 180 liter of
liquid then what part of tank 1s filled now.

T 12- Tk bl o Teh TIUTS YT H 135 AT U 21 Afe 180 et it @ dl 37
GohY <Rt ToRaIT ST 37 STTdT 22 %

D T’%:léiﬂ. filld pot = 1865
{

—_—

Ll

T= 135y S b) 1/4
2 c) 1/5
S d) 1/6
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Question 13- A person get a discount 0f 40% on the marked price of an article.

If he get 45% discount then he will save Rs 2000. Find how much money he

paid for that article.
ST 13- Uk ATh ol [oRHT I o 3Hfohd Hed T OF 40% Rl B fHerd 21 Jfc 39

45% hT B T & 1 3§ 2000 T 3hT S=1d &I A shilST Toh 38 36 ] o
foTT fehc U9 =T 7T Tk

a) Rs 20,000

HOME Worg b) Rs 24,000
¢) Rs 26,000

d) Rs 42,000
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Question 14- A rectangular field of length and breadth 300 meter and 280

meter surrounds by a track of breadth 10 meter. Find the area of track.

T 14- 300 HieT I 280 HieT TAdTs T ST3 hl Teh STRATHI HeH 10 HieT
SIS o oo © [ERT 3T 2| ¢ ol &%l J1d 3hi (1)

HWQ RULS 2) 8000 cm?

b) 12000 cm?
¢) 14000 cm?
d) 16000 cm?
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